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= 5,102,800
= 1,737,000
= 719,740
= 7,365,291
AT 22 2,635,300 2,476,918 158,382
2 1,737,000
< 44,100
= 854,200
ARDET AL 22 2,635,300 2,476,918 158,382
= 1,737,000
= 44,100
= 854,200
ARDETAIEINSALY 910,000 784,429 125,571
= 637,000
= 273,000
401 Al EHILE20HH] 910,000 784,429 125,571
= 637,000
= 273,000
01 Al&H| 904,304 778,929 125,375
0 AFE =T AIEIRZFAISE (5000 A) 904,304
= 637,000
= 267,304
03 Al =20HYI 5,696 5,500 196
0 A2 =S AIEIHAIY A2 5,696
A 2 142,690 202,690 60,000
201 2Er243H| 140,690 200,690 60,000
01 AtR22ldl 140,000 200,000 A 60,000
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= 102,900
01 Al&H| 147,000 147,000 0
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= 44,100
= 102,900




SN ASET A
ZE: ALE el
ool AR@ETAETE (el &2
_ _ MNuE o
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
AADLCALRT R 60,610 51,330 9,280
206 W&Yl 20,610 26,330 75,720
NRIE 20,610 26,330 75,720
0 ARRZ AL ASUHE
4,0002 * 1,800Kg 7,200
0 ARRZAE HEE 7Y
1,002 * 310244 * 108l 3,410
0 ARRLTAE FASY)| TE L %#E
o 10,000
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01 Al 40,000 25,000 15,000
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SESQUUBBLNLAL 1,375,000 1,291,469 83,531
z 1,100,000
2 275,000
401 AlZHIL 2O 1,375,000 1,291,469 83,531
z 1,100,000
2 275,000
01 Al 1,370,068 1,283,569 86,499
SESQMBEANL(6HIT) 1,370,068
z 1,100,000
= 270,068
03 Al&=THHI 4,932 7,900 £2,968
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st mel 7,929,132 8,763,543 £834,411
2 5,102,800
= 675,640
2 2,150,692
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2 5,102,800
= 675,640
2 2,150,692
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= 365,000
2 615,200
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03 Al R04Hl 17,856 15,674 2,182
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s E0Sot=% HH 1,628,000 1,407,000 221,000
= 638,000
< 300,000
= 690,000
401 Al&HIZL Sl 1,628,000 1,407,000 221,000
= 638,000
< 300,000
= 690,000
01 Al&HI 1,530,019 1,314,847 215,172
0 sOHE0tSdt===FHI(6HA) 1,530,019
= 638,000
< 300,000
= 592,019
02 Zealtl 91,400 87,093 4,307
0 sHE0IS6t==&H| 2el 91,400
03 AlZ=20HHl 6,581 5,060 1,521
0 sHEDtSot=TFHl AIER I 6,581
AZ ST AL &5 2,983,630 ,846,000 1,137,630
= 2,433,000
< 10,640
= 539,990
403 XXM SA201H 2,983,630 ,846,000 1,137,630
= 2,433,000
[ 10,640
= 539,990
02 SISO CHE A 2,983,630 ,846,000 1,137,630
0 BARoI=TAIEEX 2,983,630
= 2,433,000
< 10,640
= 539,990
ot=AIEEE L EHHI S A 305,502 298,543 6,959
401 Al&HIL2HY| 305,502 298,543 6,959
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01 AtR2teld] 80,410 80,410 0
0 2M2Y et+EHI(SS) 14,160
0 &.=44 51,250
0 2N2Y SHI(SS) 15,000
203 YR F=Z& 4,200 4,200 0
04 BEN2IHFF=LH 4,200 4,200 0
0 2N2E 350,000% * 12& 4,200




